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TNPSC GROUP I – TEST BATCH 2022 
TEST VII – 6TH TO 12TH STD PHYSICS & CHEMISTRY 

 
1. Which among the following is a mixture? 

a. Common salt   b. Air    c. Carbon-di-oxide   
d. pure silver   e. Answer not known 
gpd;tUtdtw;Ws; vJ xU fyit?  
a. rhjhuz cg;G   b. fhw;W    c. fhh;gd; il Mf;irL   
d. J}a nts;sp    e. tpil njhpatpy;iy 

 
2. Calculate the number of protons, electrons, neutron in atom 13Al27 

a. 13, 13, 27  b. 13, 27, 14   c. 13, 13, 14   
d. 14, 13, 13   e. Answer not known 

27

13Al
 mZtpy; cs;s GNuhl;lhd;> vyf;luhd;> epA+l;uhd;fspd; vz;zpf;ifiaf; 

fzf;fpLf.  
a. 13, 13, 27  b. 13, 27, 14   c. 13, 13, 14   
d. 14, 13, 13   e. tpil njhpatpy;iy 

 
3. Li, Na, K is a ___________. 

a. octave    b. Triad   c. Isotope    
d. Isobar   e. Answer not known 
Li, Na, K xU _____________ 
a. vz;ik    b. Kk;ik   c. INrhNlhg;G  
d. INrhghh;   e. tpil njhpatpy;iy 

 
4. Yukawa forces are the forces between ________ and ___________ 

a. Electron and Proton  b. Proton and Positron c. Proton and Neutron  
d. Proton and Meson   e. Answer not known 
Afhth tpir _________f;Fk;> __________ f;Fk; ,ilapy; epyTfpwJ.  
a. vyf;l;uhd; kw;Wk; GNuhl;lhd; b. GNuhl;lhd; kw;Wk; ghrpl;uhd;  
c. GNuhl;lhd; kw;Wk; epA+l;uhd;  d. GNuhl;lhd; kw;Wk; kPrhd;  
e. tpil njhpatpy;iy 

 
5. 3 part of HCl and 1 part of HNO3 is called __________ 

a. Alloy   b. Isotope   c. Aqua Regia  
d. Blue vitriol  e. Answer not known  
%d;W gq;F HCl kw;Wk; 1 gq;F iel;hpf; mkpyk;  
a. cNyhff;fyit  b. INrhNlhg;Gfs;   c. uh[jpuhtfk;   
d. ePyJj;jk;   e. tpil njhpatpy;iy 

 

6. _______ is an example for coordinate covalent bond 
a. NH3 and NCl3  b. NH3 and PCl3  c. BF3 and AlCl3   
d. NH3 and BF3  e. Answer not known 
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<jy; rfg;gpizg;gpd; vLj;Jf;fhl;L __________. 
a. NH3 kw;Wk; NCl3 b. NH3 kw;Wk; Pcl3  c. BF3 kw;Wk; AlCl3    
d. NH3 kw;Wk; BF3  e. tpil njhpatpy;iy 

 
7. Match the following 

Source    Acid present 
A. Vinegar    1. Hydrochloric acid 
B. Ant    2. Malic Acid 
C. Apple    3. Formic Acid 
D. Stomach juice   4. Acetic Acid 
  A B C D 
a.  2 3 4 1  
b.  2 4 3 1  
c.  4 3 2 1  
d. 1 2 3 4 
e. Answer not known 
nghUj;Jf:  
 %yq;fs;    mkpyq;fs;  
A. tpdpfh;    1. i`l;Nuh FNshhpf; mkpyk;  
B. vWk;G     2. khypf; mkpyk;  
C. Mg;gps;    3. ghh;kpf; mkpyk;  
D. tapw;wpy; Ruf;Fk; jputk;  4. mrpbf; mkpyk;  
  A B C D 
a.  2 3 4 1  
b.  2 4 3 1  
c.  4 3 2 1  
d. 1 2 3 4 
e. tpil njhpatpy;iy 

 
8. Match the following 

Salt     Molecular formula 
A. Washing Soda   1. NaHCO3 
B. Baking Soda   2. CaOCl2 
C. Bleaching powder  3. CaSO4 ½ H2O 
D. Plaster of Paris   4. Na2CO3 
  A B C D 
a.  1 2 4 3  
b.  4 1 2 3  
c.  4 2 3 1  
d.  1 4 3 2  e. Answer not known 
nghUj;Jf:  
 cg;G     %yf;$W tha;ghL  
A. fyit Nrhlh   1.NaHCO3 
B. rikay; Nrhlh    2. CaOCl2 
C. fyit J}s;    3. CaSO4 ½ H2O  
D. ghhp];rhe;J    4. Na2CO3 

  A B C D 
a.  1 2 4 3  
b.  4 1 2 3  
c.  4 2 3 1  
d.  1 4 3 2  e. tpil njhpatpy;iy  
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9. ______ is a double salt 
a. Potash alum   b. copper sulphate   c. sodium chloride  
d. magnesium chloride  e. Answer not known 
________ xU ,ul;il cg;G  
a. nghl;lh~; gbfhuk;   b. jhkpury;Ngl;  c. Nrhbak; FNshiuL   
d. nkf;dprpak; FNshiuL  e. tpil njhpatpy;iy 

 

10. Allotropic form of carbon 
a. C – 12   b. C – 14   c. Fullerenes    
d. C – 6   e. Answer not known 
fhh;gdpd; GwNtw;Wik tbtq;fs; 
a. C – 12   b. C – 14   c. Gs;shpd;fs;   
c. C – 6   e. tpil njhpatpy;iy 

 
11. Molecular mass of H2SO4 

a. 9.8 kg   b. 98 g    c. 0.98 kg   
d. 49 kg   e. Answer not known 
H2SO4 d; %yf;$W epiw  
a. 9.8 fpNyh fpuhk;  b. 98 fpuhk;    c. 0.98 fpNyh fpuhk;   
d. 49 fpNyhfpuhk;   e. tpil njhpatpy;iy 

 
12. Molar volume occupied by NH3 

a. 22.4 litres   b. 2.24 litres   c. 224 litres   
d. 0.224 litres  e. Answer not known 
xU Nkhyhh; gUkd; NH3 thA Mf;fpukpg;gJ  
a. 22.4 ypl;lh;fs;  b. 2.24 ypl;lh;fs;   c. 224 ypl;lh;fs;   
d. 0.224 ypl;lh;fs;   e. tpil njhpatpy;iy 

 
13. The physical and chemical properties of the elements are periodic functions of their 

________ 
a. Atomic mass   b. Atomic radius  c. Atomic number   
d. Ionisation energy  e. Answer not known 
jdpkq;fspd; ,aw;gpay; kw;Wk; Ntjpapay; gz;Gfs; mtw;wpd; ________ rhh;e;J 
mikAk;?  
a. mZ epiw    b. mZ Muk;   c. mZ vz;    
d. madpahf;Fk; Mw;wy;   e. tpil njhpatpy;iy 

 
14. The Lanthanides and Actinides are called ______ 

a. Transition elements  b. inner Transition  elements c. Halogen family  
d. Inert gases   e. Answer not known 
yhe;jidLfs; kw;Wk; Mf;bidLfs; vt;thW miof;fg;gLfpd;wd?  
a. ,ilepiy jdpkq;fs;   b. cs; ,ilepiy jdpkq;fs; c. `hNyh[d; FLk;gk;  
d. ke;j thAf;fs;    e. tpil njhpatpy;iy 

 
15. Which are of the following acid reduced Tollen’s Reagent? 

a. Acetic acid  b. Benzoic Acid   c. Formic Acid  
d. Oxalic Acid  e. Answer not known 
lhyd;]; tpid nghUis xLf;Fk; mkpyk; vJ?  
a. mrpbf; mkpyk;  b. nkd;Nrhapj; mkpyk;   c. ghh;kpf; mkpyk;  
d. Mf;rhypf; mkpyk;  e. tpil njhpatpy;iy 

 
 



 

4 | Page PH: 044 - 24339436, 42867555, 9840226187 

 

16. Among silver compounds the compound used in artificial rain is 
a. AgF  b. AgCl   c. AgBr   
d. AgI  e. Answer not known 
nraw;if kio cUthf;Fjypy; gad;gLj;jg;gLk; rpy;thpd; Nrh;kk; vJ?  
a. AgF  b. Agcl   c. AgBr   
d. AgI  e. tpil njhpatpy;iy 

 
17. The lightest gas which is non-inflammable is 

a. Helium   b. Hydrogen   c. Nitrogen   
c. Argon   e. Answer not known 
kpfTk; ,Nyrhd vhpAk; jd;ikAw;w thA  
a. P̀ypak;   b. i`l;u[d;   c. iel;u[d;   
d. Mh;fhd;    e. tpil njhpatpy;iy 

 
18. ____ alkali metal used in photo electric cells 

a. Li  b. K  c. Rb  d. CS  e. Answer not known 
__________ fhu cNyhfk; xsp kpd;fyq;fspy; gad;gLj;jg;gLfpwJ.  
a. Li  b. K  c. Rb  d. CS  e. tpil njhpatpy;iy 

 
19. Which compound used to cut glasses? 

a. SiCl4  b. Na2SiO3    c. SiC   
d. SiO2  e. Answer not known 
fz;zhbia ntl;l Njitahd Ntjp Nrh;kk; vJ?  
a. SiCl4  b. Na2SiO3    c. SiC   
d. SiO2   e. tpil njhpatpy;iy 

 
20. The refractive index of Ice is 

a. 1.30  b. 1.60  c. 1.90  d. 2.20  e. Answer not known 
gdpf;fl;bapd; xsptpyfy; vz;  
a. 1.30  b. 1.60  c. 1.90  d. 2.20  e. tpil njhpatpy;iy 

 
21. Twinkling of stars is caused due to ____________ of light rays. 

a. reflection   b. refraction   c. diffraction   
d. polarization  e. Answer not known 
el;rj;jpuk; xsph;tjd; fhuzk; xspf;fjph;fspd; _________ 
a. vjpnuhspg;G   b. tpyfy;   c. tpspk;G tisT  
d. Kidthf;fk;   e. tpil njhpatpy;iy 

 

22. Bifocal lens was invented by 
a. Orville   b. John Boyd Dunlop  c. Nicolas Cugnot   
d. Benjamin Franklin e. Answer not known 
,U Ftpa nyd;ir fz;Lgpbj;jth; ahh;? 
a. Mh;tpy;yp   b. [hd; gha;L ld;yg;  c. epNfhy]; ff;ehl;  
d. ngd;rkpd; gpuhq;fpspd;  e. tpil njhpatpy;iy 

 

23. In desert, the phenomena of mirage occurs due to 
a. total internal reflection  b. diffraction of light  c. polarisation  
d. refraction of light  e. Answer not known 
ghiytdj;jpy; fhdy; ePh; Njhd;w fhuzk;  
a. KO mf vjpnuhspg;G  b. xsp tpspk;G tpisT   c. js tpisT  
d. xsp tpyfy;   e. tpil njhpatpy;iy  
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24. Nuclear fusion is a process in which 
I. Two or more lighter Nuclei combine to form a heavier Nucleus 
II. A Heavy Nucleus splits into 2 or more Nucleus 
III. Fusion of 2 or more Heavy Nucleus 
IV. Fusion of a Heavy Nucleus with a light Nucleus 
a. I   b. I & II  c. II & III d. IV  e. Answer not known 
mZf;fU ,izT epfo;tpd; NghJ 
I. ,U my;yJ ,uz;bw;Fk; Nkw;gl;l ,Nyrhd mZfUf;fs; ,ize;J fdkhd 

mZfUit Njhw;Wtpj;jy; 
II. mZf;fU 2 kw;Wk; mjpf mZfUf;fshf rpijjy; 
III. 2 kw;Wk; mjw;F Nkw;gl;l ,U fdkhd mZf;fUf;fspd; ,izT 
IV. mZf;fU ,Nyrhd mZf;fUTld; ,izjy; 
a. I   b. I & II  c. II & III d. IV  e. tpil njhpatpy;iy 

 
25. The base used in manufacture of medicines for stomach troubles 

a. NaOH   b. 2( )Mg OH    c. 2( )Ca OH    

d. 2Na O   e. Answer not known 

tapw;W cghijfSf;F kUe;jhf gad;gLk; fhuk; 
a. NaOH  b. Mg(OH)2   c. Ca(OH)2   

d. 2Na O   e. tpil njhpatpy;iy 
 

26. Match the following 
A. King of chemicals     1. Carbonic acid 
B. Cleaning agent      2. Hydrochloric acid 
C. Food preservative     3. Sulphuric acid 
D. Aerated drinks      4. Ammonium hydroxide 
E. Remove grease stains from clothes   5. Benzoic acid 
  A B C D E 
a.  3 2 1 4 5 
b.   3 2 5 1 4 
c.  2 1 3 4 5 
d.  3 1 4 2 5 
e. Answer not known 
A njhFjpia B njhFjpNahL nghUj;Jf: 
A. Ntjpg; nghUl;fspd; murd;    1. fhh;ghdpf; mkpyk; 
B. J}a;ikg;gLj;Jk; nghUs;    2. i`l;NuhFNshhpf; mkpyk; 
C. czTg;nghUl;fis ghJfhj;jy;   3. fe;jf mkpyk; 
D. fhw;W milf;fg;gl;l Fsph;ghdk;   4. mk;Nkhdpak; i`l;uhf;irL 
E. Jzpfspy; cs;s vz;nza;f; fiwfis mfw;w 5. ngd;rhapf; mkpyk; 
  A B C D E 
a.  3 2 1 4 5 
b.   3 2 5 1 4 
c.  2 1 3 4 5 
d.  3 1 4 2 5 
e. tpil njhpatpy;iy 

 

27. Joule’s law of heating is 

a. 

2I
H t

R
=   b. H = V2Rt    c. H= IR2t   

d. H = VIt  e. Answer not known 
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[_ypd; ntg;g tpjp  

a. 
2I

H t
R

=   b. H = V2Rt    c. H= IR2t   

d. H = VIt  e. tpil njhpatpy;iy 
 

28. Fuse wire is an alloy of 
a. Lead and Tin  b. Tin and Copper   c. Lead and Copper  
d. Lead and Iron  e. Answer not known 
kpd;cUF ,ioapy; cs;s cNyhff; fyit  
a. <ak; kw;Wk; nts;sPak; b. nts;sPak; kw;Wk; jhkpuk; c. <ak; kw;Wk; jhkpuk;  
d. <ak; kw;Wk; ,Uk;G e. tpil njhpatpy;iy 

 

29. Which one of the following is correctly matched? 
a. Hydraulic press  - Archimedes principle 
b. Lift on airplane   - Bernoulli’s principle 
c. Paint – gun   - Newton’s third law 
d. Electron microscope  - Refraction of electron waves 
e. Answer not known 
gpd;tUtdtw;Ws; vJ rhpahf ,izf;fg;gl;Ls;sJ 
a. ePh;rhh;G neUf;Fk; fUtp  - Mh;f;fpkpBrpd; jj;Jtk; 
b. tpkhdj;ijj; J}f;Fjy;  - ngsh;ndsypapd; jj;Jtk; 
c. ngapd;l; Jg;ghf;fp  - epa+l;ldpd; %d;whtJ tpjp 
d. vyf;l;uhd; Ez;Nzhf;fp  - vyf;l;uhd; miyfspd; tpyfy; 
e. tpil njhpatpy;iy 

 
30. Match the following  

Material    Use 
A. D2O    1. Coolant 
B. Hafnium    2. Moderator 
C. Liquid Sodium   3. Control rods 
D. Neutron reflector  4. Minimizes the leakage of neutrons. 
  A B C D 
a.  1 2 3 4 
b.  2 1 4 3 
c.  2 3 1 4 
d. 2 4 3 1 
e. Answer not known 
nghUj;Jf 
 nghUs;    gad; 
A. D2O    1. Fsph;tpg;ghd; 
B. N`g;dpak;   2. jzpg;ghd; 

C. jput Nrhbak;   3. fl;Lg;gLj;Jk; jz;Lfs; 
D. epa+l;uhd; vjpnuhspg;ghd; 4. epa+l;uhd; frpT Fiwf;fg;gLjy; 
  A B C D 
a.  1 2 3 4 
b.  2 1 4 3 
c.  2 3 1 4 
d. 2 4 3 1 
e. tpil njhpatpy;iy 
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31. The quality of a sound depends upon the  
I. Size of the vibrating body  II. Material of the vibrating body 
III. Overtones produced   IV. Shape of the vibrating body 
a. I, II & III  b. I, II, III & IV  c. I & III   
d. II, III & IV e. Answer not known 
xypapd; juj;ij eph;zapg;gJ 
I. mjph;TWk; nghUspd; msT  II. mjph;TWk; nghUs; jd;ik 
III. jpzpg;G mjph;T Vw;gLj;Jjy;  IV. mjph;TWk; nghUspd; tbtk; 
a. I, II & III  b. I, II, III & IV  c. I & III    
d. II, III & IV e. tpil njhpatpy;iy 

 

32. All images produced by the convex mirrors are 
a. real images  b. virtual images   c. both a & b  
d. none of these  e. Answer not known 
Ftp Mbapy; Njhd;Wk; gpk;gq;fs; midj;Jk; 
a. nka;gpk;gq;fs;  b. kha gpk;gq;fs;   c. Nkw;fz;l ,uz;Lk;  

d. vJTkpy;iy  e. tpil njhpatpy;iy 
 

33. The ratio of the linear stress to the linear strain of a body is called 
a. Rigidity modulus b. Young’s modulus  c. Bulk modulus   
d. Hooke’s modulus e. Answer not known 
xU nghUspd; kPJ nraw;gLk; jifTf;Fk; mjpy; Vw;gLk; jphpGf;Fk; cs;s jfT 
a. tpiug;Gf; Fzfk;  b. aq; Fzfk;    c. gUk Fzfk;   
d. `_f;fpd; Fzfk;  e. tpil njhpatpy;iy 

 
34. Moment of momentum is called 

a. angular momentum b. moment of inertia  c. kinetic energy   
d. acceleration  e. Answer not known 
ce;jj;jpd; jpUg;Gj;jpwid vg;gb miof;fyhk;? 
a. Nfhz ce;jk;  b. epiykj; jpUg;Gj;jpwd;  c. ,af;f Mw;wy;   
d. KLf;fk;   e. tpil njhpatpy;iy 

 
35. Match the items of list I with list II 

List I       List II 
A. Neutral ferric chloride solution 1. Identification of sulphur in organic  

compounds 
B. Fehling’s solution   2. To identify phenolic group 
C. Sodium nitro prusside solution 3. To identify phosphate 
D. Ammonium molybdate reagent 4. To identify reducing sugars 

A B C D 
a.  3 1 4 2 
b.  2 4 1 3 
c.  2 3 4 1 
d.  3 2 4 1 
e. Answer not known 
nghUj;Jf 
gl;bay; 1       gl;bay; 2 
A. eLepiy /ngh;hpf; FNshiuLfiury;  1. fhpkNrh;kj;jpd; ry;/giu fz;lwpa 
B. ngypq; fiury;      2. /gPdhy;fis fz;lwpa 
C. Nrhbak; iel;Nuh G&irL fiury;  3. gh];Ngl;il fz;lwpa 
D. mk;Nkhdpak; khypg;Nll;fhuzp   4. xLf;f rh;f;fiu nghUl;fis fz;lwpa   
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A B C D 

a.  3 1 4 2 
b.  2 4 1 3 
c.  2 3 4 1 
d.  3 2 4 1 
e. tpil njhpatpy;iy 

 
36. National chemical laboratory is located at 

a. Delhi  b. Kalpakkam   c. Kolkata   
d. Pune  e. Answer not known 
Njrpa Ntjpapay; $lk; ,Uf;Fkplk; 
a. nly;yp  b. fy;ghf;fk;    c. fy;fj;jh   
d. g+dh  e. tpil njhpatpy;iy 

 
37. Match the following 

 List I     List II 
A. Alkaline KMnO4  1. Oxidizing Agent 
B. Palladium   2. Reducing agent 
C. Sodium perborate  3. Mild bleaching agent 
D. Pure acetic acid   4. Glacial acetic acid 
E. P2O5    5. dehydrating agent 
  A B C D E 
a.  1 2 3 4 5 
b.  5 3 2 4 1 
c.  3 5 4 2 1 
d.  1 3 2 4 5  e. Answer not known 
nghUj;Jf 
A. fhu KMnO4   1. Mf;rp[Ndw;w fhuzp 
B. gy;Nybak;   2. xLf;Fk; fhuzp 
C. Nrhbak; ngh;NghNul;  3. Fiw ntz;ikahf;fp 
D. J}a mrpl;bf; mkpyk;  4. fpNsrpay; mrpl;bf; mkpyk; 
E. P2O5    5. ePh; ePf;fp 
  A B C D D 
a.  1 2 3 4 5 
b.  5 3 2 4 1 
c.  3 5 4 2 1  
d.  1 3 2 4 5  e. tpil njhpatpy;iy 

 
38. Match the followings 

List I     List II 
A. Law of Triads   1. Dobereiner 
B. Law of Octaves   2. Newland 
C. Periodic law   3. Mendeleev 
D. Modern periodic law  4. Moseley 

A B C D 
a.   1 2 3 4 
b.  2 1 4 3 
c.  2 3 4 1 
d.  4 3 2 1 
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e. Answer not known 
nghUj;Jf 
gl;bay; I    gl;bay; II 
A. Kk;ik tpjp   1. nlhghpdh; 
B. vz;k tpjp   2. epa+yhz;l; 
C. Mth;j;jd tpjp   3. nkz;lyPt; 
D. etPd Mth;j;jd tpjp  4. Nkh];Ny 
  A B C D 
a.   1 2 3 4 
b.  2 1 4 3 
c.  2 3 4 1 
d.  4 3 2 1 
e. tpil njhpatpy;iy 

 
39. Helium is preferred to hydrogen in airships as it 

a. has greater lifting power 
b. is less dense 
c. is cheaper 
d. does not form explosive mixture with air 
e. Answer not known 
gY}d;fspy; `Pypak; thA i`l;u[d; thATf;F gjpyhf epug;gg;gLtjw;F fhuzk; 
a. ce;Jtpir mjpfk;  
b. Fiwe;j mlh;j;jp cs;sJ 
c. rpf;fdkhdJ 
d. fhw;Wld; fye;j fyit ntbf;Fk; Mgj;jpid cUthf;fhJ 
e. tpil njhpatpy;iy 

 
40. Match the following: 

A. Isotopes  1. Atoms having same atomic number but different mass numbers  
B. Isobars  2. Atoms with same number of neutrons but different atomic  

numbers  
C. Isotones  3. Atoms with same mass number but different atomic numbers  
  A B C 
a.  1 2 3 
b.  1 3 2 
c.  2 3 1 
d.  2 1 3 
e. Answer not known 
nghUj;Jf 
A. INrhNlhg;Gfs; 1. xNu mZ vz;Zk;> khWgl;l epiw vz;izAk; nfhz;l 

mZf;fs; 
B. INrhghh;fs;  2. xNu epa+l;uhd;fs; vz;zpf;ifAk;> khWgl;l mZ vz;fis  

nfhz;l mZf;fs; 
C. INrhNlhd;fs; 3. xNu epiw vz;izAk;> khWgl;l mZ vz;izAk; 

nfhz;l mZf;fs; 
  A B C 
a.  1 2 3 
b.  1 3 2 
c.  2 3 1 
d.  2 1 3 
e. tpil njhpatpy;iy 
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41. According to Arrhenius, an acid gives ___ ions and a base gives ____ ions when 

dissolved in water 
a. H+; OH-  b. OH-; H+   c. Na+; Cl-   
d. Cl-; Na+  e. Answer not known 
mh;`Pdpa]; nfhs;ifg;gb> ePhpy; fiuAk; NghJ mkpyk; vd;gJ ______ madpfisAk;> 
fhuk; vd;gJ ______ madpfisAk; juf;$bait. 
a. H+; OH-  b. OH-; H+   c. Na+; Cl-   
d. Cl-; Na+  e. tpil njhpatpy;iy 

 

42. Choose the correct pair 
A. Arsenic – 74   1. Calculate the Age of the earth 
B. Iodine – 131   2. Blood clots 
C. Sodium – 24   3. Tumour detection 
D. Uranium – 238   4. Thyroid gland 
  A B C D 
a.  1 2 4 3 
b.  3 4 1 2 
c.  3 2 4 1  
d.  3 4 2 1 
e. Answer not known 
rhpahdij Njh;e;njL 
A. Mh;rdpf; - 74   1. Gtpapd; taJ fzf;fply; 
B. mNahbd; - 131   2. ,uj;jk; ciwjy; 
C. Nrhbak; - 24   3. fl;bfs; fz;Lgpbj;jy; 
D. ANudpak; - 238   4. ijuha;L Rug;gp 

A B C D 
a.  1 2 4 3 
b.  3 4 1 2 
c.  3 2 4 1  
d.  3 4 2 1 
e. tpil njhpatpy;iy 

 

43. Which one of the following correct about neutron? 
i. Neutrons are neutral particles 
ii. Neutrons are present in all atoms 
iii. Mass of a neutron is almost equal to the mass of a proton 
iv. Neutron is a sub atomic particle 
a. i, iii, iv  b. ii, iv  c. iii & iv d. ii, iii, iv e. Answer not known 
fPo;f;fz;ltw;Ws; epa+l;uhd; gw;wpa fUj;Jfspy; rhpahdJ vJ? 
i. epa+l;uhd;fs; kpd;Rikaw;w eLepiy Jfs;fs; 
ii. epa+l;uhd;fs; vy;yh mZtpYk; fhzf;fpilf;fpd;wd 
iii. xU epa+l;uhdpd; epiw> Vwf;Fiwa xU GNuhl;lhdpd; epiwf;Fr; rkk; 
iv. epa+l;uhd; mZtpd; gFjpg; nghUshfNt fUjg;gLfpwJ 
a. i, iii, iv  b. ii, iv  c. iii & iv d. ii, iii, iv e. tpil njhpatpy;iy 

 

44. A Cathode Ray Oscilloscope (CRO) is used to measure _______ of a signal. 
 a. voltage   b. frequency     c. phase         

d. all the above  e. Answer not known 
vjph; kpd;;tha; fjph; miyT fhl;b (CRO)> Fwpirifapd; __________I msf;f 
gad;gLfpwJ. 

a. kpd;dOj;jk;  b. mjph;ntz;   c. fl;lNfhzk;  
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d. Nkw;$wpa midj;Jk; e. tpil njhpatpy;iy 
45. Match the following: 

A. Newton     1. Radioactivity 
B. Albert  Einstein    2. Laws of planetary motion 
C. Marie Curie    3. Laws of motion 
D. Kepler     4. Relativity theory    

A B C D  
a.   1 3 4 2 
b.  3 4 1 2 
c.  2 1 3 4 
d.   4 2 1 3 
e. Answer not known 
nghUj;Jf: 
A. epA+l;ld;     1. fjphpaf;fk;  
B. My;gh;l; Id;];Bd;    2. Nfhs;fspd; ,af;f tpjpfs;  
C. Nkhp fpA+hp    3. ,af;f tpjpfs;  
D. nfg;sh;     4. rhh;gpay; nfhs;if  

A B C D  
a.   1 3 4 2 
b.  3 4 1 2 
c.  2 1 3 4 
d.   4 2 1 3 
e. tpil njhpatpy;iy 

 
46. Which of the following is correct: 

1. Force = mass x velocity  2. Acceleration = velocity / time 
3. Work = Force x displacement 4. Power = work / time 
a. 1, 2 and 3   b. 1, 3 and 4   c. 2, 3 and 4   
d. 1, 2 and 4   e. Answer not known 
fPo; tUtdtw;wpy; vit rhp:  
1 tpir = epiw × jpirNtfk;  2. KLf;fk; = jpirNtfk; / fhyk;  
3. Ntiy = tpir × ,lg;ngah;r;rp  4. jpwd; = Ntiy / fhyk;  
a. 1, 2 kw;Wk; 3  b. 1, 3 kw;Wk; 4  c. 2, 3 kw;Wk; 4   
d. 1, 2 kw;Wk; 4  e. tpil njhpatpy;iy 

 
47. Choose the correct option which differentiates a vector and a scalar 

a. Both are the same 
b. Velocity will have both magnitude and direction.  But speed does not have direction. 
c. Velocity will have magnitude only.  But speed will have both magnitude and 

direction. 
d. Both are not comparable. 
e. Answer not known 
fPNo nfhLf;fg;gl;Ls;s thf;fpaq;fSs; jpirNtfj;ijAk; Ntfj;ijAk; NtWgLj;Jk; 
rhpahd thf;fpaj;ij Njh;e;njLf;ftk;. 
a. NtfKk;> jpirNtfKk; xd;Nw MFk;. 
b. jpirNtfj;jpw;F msTk; jpirAk; kjpg;gplg;gLk;.  Mdhy; Ntfj;jpw;F jpir 

kjpg;gplg;gLtjpy;iy. 
c. jpirNtfj;jpw;F msT kl;Lk; cz;L.  Ntfj;jpw;F msT> jpirAk; kjpg;gplg;gLk;. 
d. NtfKk;> jpirNtfKk; xg;gplKbahjJ. 
e. tpil njhpatpy;iy 
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48. The unit for equivalent conductivity is 

a. ohm-1 cm-1  b. ohm-1 cm-2 eq-1  c. ohm-1 cm2 eq-1   
d. S cm-2 eq-1   e. Answer not known 
rkhd flj;J jpwdpd; myF  
a. ohm-1 cm-1  b. ohm-1 cm-2 eq-1  c. ohm-1 cm2 eq-1    
d. S cm-2 eq-1   e. tpil njhpatpy;iy 

 
49. Match the following: 

A. Myopia     1. Bifocal lens  
B. Hyper Metropia     2. Cylindrical lens 
C. Presbyopia (above 45yrs of age) 3. Concave lens  
D. Astigamatism     4. Convex lens 
  A B C D  
a.  4 3 1 2  
b.  3 4 1 2  
c.  2 4 1 3  
d.  1 2 3 4  
e. Answer not known 
nghUj;Jf. 
A. mz;ikg;ghh;it    1. ,UKfg;G tpy;iy 
B. J}ug;ghh;it    2. cUis tpy;iy 
C. gpu];igNahgpah (45 taJf;F Nky;) 3. Fop tpy;iy 
D. cUl;rpg;gpio    4. Ftp tpy;iy 

A B C D  
a.  4 3 1 2  
b.  3 4 1 2  
c.  2 4 1 3  
d.  1 2 3 4 
e. tpil njhpatpy;iy  

 
50. Which of the followings are identified as isobars? 

i. 18Ar40   ii. 17Cl35  iii. 20Ca40   iv. 17Cl37 
a. (i) and (iii)  b. (ii) and (iv)  c. (iii) and (iv)   
d. (i) and (ii)   e. Answer not known 
fPo;fhz;gtw;Ws; vit INrhghh;fs; vd;gij milahsk; fhz;f? 
i. 18Ar40   ii. 17Cl35  iii. 20Ca40   iv. 17Cl37 
a. (i) kw;Wk; (iii)  b. (ii) kw;Wk; (iv)  c. (iii) kw;Wk; (iv)  
d. (i) kw;Wk; (ii)  e. tpil njhpatpy;iy 

 
51. The Product of mass and velocity of a moving body gives the magnitude of _________? 

a. Inertia     b. Linear momentum   c. like parallel force   
d. unlike parallel force  e. Answer not known 
,aq;Fk; nghUspd; epiw kw;Wk; jpirNtfj;jpd; ngUf;fw;gyd; _________ vdg;gLk;.  
a. epiykk;    b. Neh;f;Nfhl;L ce;jk;  c. xj;j ,iztpirfs;  
d. khWgl;l ,iztpirfs;  e. tpil njhpatpy;iy 

 

52. An athlete runs some distance before jumping. It is an example of ______?  
a. Inertia of motion   b. Inertia of direction   c. Inertia of rest   
d. All the above    e. Answer not known 
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ePsk; jhz;Ljy; Nghl;bapy; cs;s Nghl;bahsh; ePz;l J}uk; jhz;Ltjw;fhf> jhk; 
jhz;Lk; Kd; rpwpJ J}uk; XLtjw;F fhuzk; ________ MFk;.  

a. ,af;fj;jpw;fhd epiykk; b. jpirf;fhd epiykk; c. xa;tpw;fhd epiykk;  
d. midj;Jk;    e. tpil njhpatpy;iy  

 

53. The Product of the force and the perpendicular distance between the fixed point and the 
line of action of the force. It is known as _______.  
a. Torque    b. Couple     c. Thrust    
d. Pressure    e. Answer not known 
tpirapd; vz; kjpg;G> epiyahd Gs;sp kw;Wk; tpir nray;gLk; mr;rpw;Fk; ,ilNa 
cs;s nrq;Fj;J njhiyT> cs;s ngUf;fw; gyidf; nfhz;L ________ vdg;gLk; 
a. jpUg;Gj;jpwd;  b. ,ul;il     c. ce;Jtpir   
d. mOj;jk;   e. tpil njhpatpy;iy 

 

54. Which of the following is application of torque?  
a. Gears    b. Seasaw    c. Steering wheel   
d. All the above   e. Answer not known 
fPo;fz;ltw;Ws; vJ tpirapd; jpUg;Gj;jpwd; nray;gLk; vLj;Jf;fhl;Lfs;?  
a. gw;rf;fuq;fs;    b. Vw;wg;gyif   c. jpUg;Gr;rf;fuk;  
d. ,it midj;Jk; e. tpil njhpatpy;iy 

 

55. A Large force acting for a very short interval of time is called ______.  
a. Torque   b. Impulsive force    c. Couple    
d. Thrust   e. Answer not known 
kpff; Fiwe;j fhy mstpy; kpf mjpf msT nray;gLk; tpir __________ vdg;gLk;?  
a. jpUg;Gj;jpwd;  b. fzj;jhf;F    c. ,ul;il   
d. ce;Jtpir  e. tpil njhpatpy;iy 

 
56. What is the mean value of acceleration due to gravity?  

a. 9.7ms-2   b. 9. ms-2    c. 9.8 ms-2   
d. 9.9 ms-2   e. Answer not known 
Gtp <h;g;G KLf;fj;jpd; ruhrhp kjpg;G ___________?  
a. 9.7ms-2   b. 9. ms-2    c. 9.8 ms-2   
d. 9.9 ms-2   e. tpil njhpatpy;iy 

 

57. The velocity at which the rocket escape from the gravitational pull of the earth is known 
as ___________. 
a. escape velocity   b. Angular velocity   c. impulse velocity   
d. Gravitational velocity e. Answer not known 
xU Fwpg;gpl;l cauj;jpy; uhf;nfl;lhdJ Gtpapd; <h;g;G tpirapid jtph;j;J tpl;L 
nry;Yk; tifapy; mjd; jpirNtf kjpg;G cr;rj;ij milfpwJ. ,J ____________ 
vdg;gLk;?  
a. tpLgL Ntfk;   b. Nfhzj; jpir Ntfk;   c. fzj;jhf;F Ntfk;  
d. Gtp <h;g;G Ntfk;  e. tpil njhpatpy;iy  

 
58. What is the value of mass of the earth? 

a. 5.973 × 1023 kg  b. 5.972 × 1024 kg    c. 5.974 × 1024 kg    
d. 5.975 × 1023 kg   e. Answer not known 
Gtpapd; epiw kjpg;ig fhz;f?  
a. 5.973 × 1023 kg  b. 5.972 × 1024 kg    c. 5.974 × 1024 kg    
d. 5.975 × 1023 kg   e. tpil njhpatpy;iy 

 
59. Rotating effect of a couple is known as ______?  
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a. Moment of a couple  b. Torque    c. Thrust    
d. Pressure     e. Answer not known 
#oy;tpistpid Vw;gLj;Jk; ,ul;ilia _______ vd;wiof;fpNwhk;?  
a. ,ul;ilfspd; jpUg;Gj;jpwd;  b. jpwg;Gj;jpwd;   c. ce;Jtpir    
d. mOj;jk;    e. tpil njhpatpy;iy 

 
60. Why Rain drops are spherical in nature?  

a. Pascal law    b. Surface tension    c. Viscosity    
d. None of  the above   e. Answer not known 
kioj;Jspfs; ,aw;ifahfNt Nfhs tbtj;ijg; ngw;wpUg;gJ Vd;? 
a. gh];fy; tpjp   b. gug;G ,Otpir    c. ghfpay; tpir  
d. Nkw;fz;l VJTkpy;iy  e. tpil njhpatpy;iy  

 
61. An upward force exerted by liquid on a floating body is known as _____.  

a. Friction    b. Surface tension    c. pressure   
d. Buoyant force  e. Answer not known 
kpjf;Fk; nghUspd; kPJ jputk; nray;gLj;Jk; Nky;Nehf;F tpir. ,ij __________ 
vd;W miof;fg;gLfpwJ?  
a. cuha;T    b. gug;G ,Otpir    c. mOj;jk;   
d. kpjg;G tpir   e. tpil njhpatpy;iy 

 
62. Electrostatic force between two-point charges obey ______. 

a. Newton’s 1st law  b. Newton’s 2nd law   c. Newton’s 3rd law  
d. None of the above  e. Answer not known 
,U Gs;sp kpd;D}l;lq;fSf;F ,ilapy; Vw;gLk; epiy kpd;dpay; tpir _________ 
mbg;gilapy; ,aq;FfpwJ? 
a. epA+l;ldpd; Kjy; tpjp  b. epA+l;ldpd; ,uz;lhtJ tpjp  
c. epA+l;ldpd; %d;whtJ tpjp d. Nkw;fz;l VJTkpy;iy. 
e. tpil njhpatpy;iy 

 
63. Which of the following instrument is used to indicate the direction of current?  

a. Ammeter   b. Voltmeter   c. Galvanometer   
d. Rheostat   e. Answer not known 
fPo;fz;ltw;Ws; vJ kpd;Ndhl;lj;jpd; jpiria fz;lwpa gad;gLfpwJ?  
a. mk;kPl;lh;  b. Nthy;l; kPl;lh;    c. fhy;tNdh kPl;lh;   
d. kpd;jil khw;wp  e. tpil njhpatpy;iy 

 
64. Who is regarded as Father of Fibre optics?  

a. William Gilbert  b. John Dalton   c. Narinder kapany  
d. Rutherford    e. Answer not known 
fPo;fz;ltw;Ws; __________ ,aw;gpayhsh; ,io xspapaypd; je;ij vd 
miof;fg;gLfpwhh;?  
a. tpy;ypak; fpy;gh;l; b. [hd; lhy;ld;   c. ehpe;jh; fghdp   
d. &jh;Nghh;L   e. tpil njhpatpy;iy 

 

65. Which among of the following is ‘Mirror equation? 

a. 
1

𝑓
=

1

𝑢
+

1

𝑣
   b. 

1

𝑢
=

1

𝑓
+

1

𝑣
   c. 

1

𝑣
=

1

𝑓
+

1

𝑢
   

d. 
1

𝑓
=

1

𝑢
−

1

𝑣
   e. Answer not known 

fPo;fz;ltw;Ws; vJ ‘Mbapd; rkd;ghL” MFk;?  

a. 
1

𝑓
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1

𝑢
+

1

𝑣
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d. 
1

𝑓
=

1

𝑢
−

1

𝑣
   e. tpil njhpatpy;iy 

 
66. Which among the following states that ‘The amount of scattering of light is inversely 

proportional of the fourth power of its wavelength”? 
a. Rayleigh scattering  b. Mie scattering    c. Tyndall scattering   
d. Raman scattering  e. Answer not known 
“Xh; xspf;fjph; rpjwyilAk; msthdJ> mjd; miyePsj;jpd; ehd;kbf;F vjph;j;jftpy; 
,Uf;Fk;’ fPo;fz;ltw;Ws; vit Nkw;fz;l tpjpia $WfpwJ?  
a. uhNy xspr;rpjwy; b. kP – xspr;rpjwy;   c. bz;lhy; xspr;rpjwy;  
d. ,uhkd; xspr;rpjwy;  e. tpil njhpatpy;iy   

 

67. The blue colour of sky is due to  
a. Rayleigh scattering b. Mie scattering    c. Tyndall Scattering   
d. Raman scattering  e. Answer not known 
thdk; ePy epwkhf Njhd;Wtjw;F fhuzk; ___________.  
a. uhNy xspr;rpjwy; b. kP – xspr;rpjwy;   c. bz;lhy; xspr;rpjwy;  
d. ,uhkd; xspr;rpjwy;  e. tpil njhpatpy;iy 

 
68. Power of a lens is – 2D, then its focal length is? 

a. 4 m  b. -0.5m   c. -0.25 m d. -4m  e. Answer not known 
xU nyd;rpd; jpwd; - 20 vdpy; mjd; Ftpaj; njhiyT _______  
a. 4 m  b. -0.5m   c. -0.25 m d. -4m  e. tpil njhpatpy;iy 
 

69. Optical fibre is a device that works on the principle of __________. 
a. Reflection   b. Refraction    c. Total internal reflection  
d. None of these   e. Answer not known 
xsp ,io vd;gJ> _________ jj;Jtj;jpd; gb nray;gLk;? 
a. vjpnuhspg;G  b. xsptpyfy;   c. KO mf vjpnuhspg;G   
d. Nkw;fz;l vJTkpy;iy e. tpil njhpatpy;iy 

 
70. When ever there is a relative motion between a source and listener, the frequency of the 

sound heard by the listener is different from the original frequency of sound emitted by 
the source this is known as ______?  
a. Pitch     b. Sonic boom   c. Doppler effect   
d. none of these   e. Answer not known 
Xyp %yj;jpw;Fk;> Nfl;FeUf;Fk; ,ilNa rhh;gpaf;fk; ,Uf;Fk; NghJ> Nfl;Feuhy; 
Nfl;fg;gLk; xypapd; mjph;ntz;zhdJ> xyp %yj;jpd; mjph;ntz;zpypUe;J khWtJ 
Nghy; Njhd;Wk;> ,e;epfo;T _________ vdg;gLk;.  
a. RUjp    b. xyp KOf;fk;   c. lhg;sh; tpisT   
d. Nkw;fz;l VJTkpy;iy  e. tpil njhpatpy;iy  

 
71. Which of the following is the application of doppler effect?  

a. Tracking a satellite  b. RADAR    c. SONAR   
d. All the above   e. Answer not known 
fPo;f;fz;ltw;Ws; vit lhg;sh; tpistpd; gad;ghLfs;? 
a. Jizf;Nfhs; xd;wpd; njhiytpidf; fzf;fpLjy;  b. RADAR  
c. SONAR        d. Nkw;$wpa midj;Jk;  
e. tpil njhpatpy;iy 

 
72. Sound travels about _______ times faster in water than in air? 

a. 4   b. 5  c. 3  d. 2  e. Answer not known 
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xypahdJ fhw;iwtpl _________ klq;F Ntfkhf ePhpy; gazpf;Fk;.  
a. 4   b. 5  c. 3  d. 2  e. tpil njhpatpy;iy 

 
73. The minimum distance required for hearing echo’s is _____.  

a. 17.2 m   b. 17.4 m   c. 18 m   
d. 19 m   e. Answer not known 
vjpnuhypia njspthff; Nfl;fNtz;Lkhdhy; vjpnuhypf;Fk; gug;G Fiwe;jgl;rk; 
__________ njhiytpy; ,Uf;f Ntz;Lk;?  
a. 17.2 m   b. 17.4 m   c. 18 m   
d. 19 m   e. tpil njhpatpy;iy 

 
74. In which year Indian atomic Energy commission was established? 

a. 1947  b. 1940 c. 1948  d. 1949 e. Answer not known 
,e;jpa mZrf;jp Mizak; ve;j Mz;by; mikf;fg;gl;lJ.  
a. 1947  b. 1940 c. 1948  d. 1949 e. tpil njhpatpy;iy 

 
75. Which among the following nuclear reaction operating in India? 

a. Cirrus    b. Dhuruva    c. Purnima    
d. All the above   e. Answer not known 
fPo;fz;ltw;Ws; ve;j mZf;fU ciyfs; ,e;jpahtpy; nray;ghl;by; cs;sd?  
a. iru];   b. JUth   c. G+h;zpkh   
d. Nkw;fz;l midj;Jk;  e. tpil njhpatpy;iy 

 
76. Who proposed the heliocentric model of the universe? 

a. Tycho Brahe   b. Nicolaus Copernicus    c. Ptolemy    
d. Archimedes   e. Answer not known 
#hpa ikaf; nfhs;ifia Kd;nkhope;jth; ahh;? 
a. ilf;Nfh gpuhN` b. epNfhy]; Nfhgh; epf;f];   c. lhykp   
d. Mh;f;fpkpb];  e. tpil njhpatpy;iy 

 
77. Which among the following is the applications of Heating effect?  

a. Electric Heating device   b. Fuse wire    c. Filament in bulbs    
d. All the above    e. Answer not known 
fPo;fz;ltw;Ws; vJ [Py; tpistpd; gad;fs;? 
a. kpd;rhu ntg;gNkw;Wk; rhjdq;fs;  b. kpd; cUF ,io 
c. kpd; tpsf;fpy; cs;s kpd; ,io d. Nkw;fz;l midj;Jk;  
e. tpil njhpatpy;iy 

 
78. Which of the following conductor has highest resistivity? 

a. Nichrome   b. Copper    c. Nickel    
d. Chromium   e. Answer not known 
fPo;fz;ltw;Ws; ve;j flj;jp kpf cah;e;j kpd;jil vz;izf; nfhz;lJ?  
a. epf;Nuhk;   b. jhkpuk;     c. epf;fy;   
d. FNuhkpak;   e. tpil njhpatpy;iy 

 

79. Which of the following scattering is responsible for white appearance of clouds? 
a. Rayleigh Scattering  b. Mie scattering    c. Tyndall scattering  
d. Raman scattering  e. Answer not known 
Nkf$l;lq;fs; ntz;ik epwkhff; fhl;rpaspf;f ________ fhuzkhf mikfpwJ?  
a. uhNy xspr;rpjwy; b. kP – xspr;rpjwy;    c. bz;lhy; xspr;rpjwy; 
d. uhkd; xspr;rpjwy;  e. tpil njhpatpy;iy 

  



 

17 | Page PH: 044 - 24339436, 42867555, 9840226187 

 

80. The nuclear bomb that was dropped in Hiroshima during World War II was called as 
_________ 
a. Fat man    b. little boy   c. Fat boy    
d. Litter man   e. Answer not known 
,uz;lhk; cyfg; Nghhpd;NghJ `pNuh~pkh efuj;jpy; tPrg;gl;l mZFz;bd; ngah; 
_________?  
a. Ngl; Nkd;   b. ypl;by; gha;  c. Ngl; gha;   
d. ypl;by; Nkd;  e. tpil njhpatpy;iy  

 
81. The minimum mass of a Fissile material necessary to sustain chain reaction  is called 

________? 
a. Critical mass                  b. Sub critical mass    c. Super critical mass   
d. None of the above  e. Answer not known 
njhlh;tpidiaj; njhlh;e;J epiy epWj;Jtjw;Fj; Njitahd gpsTg; nghUs;fspd; 
Fiwe;j msT epiwia ________ vd miof;fyhk;?  
a. khWepiy epiw  b. FiwkhWepiy epiw  c. kpif khWepiw epiw  

d. vJTkpy;iy   e. tpil njhpatpy;iy 
 

82. Which of the following is known as snell's law?  

a. 1

2

sin

sin
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sin
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=    c. 1
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sin

sin

r

i




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d. 2

1

sin

sin

r

i




=    e. Answer not known 

fPo;fz;ltw;Ws; vJ ];ney; tpjp vdg;gLfpwJ?  
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
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=    e. tpil njhpatpy;iy 

 
83. In a cricket a fielder pulls back his hands while catching the ball It is an example of 

____________? 
a. Newton's 1st law of motion  b. linear momentum    c. Impulse   
d. Newton's 2nd law of motion  e. Answer not known 
fphpf;nfl; tpisahl;by;> Ntfkhf tUk; ge;jpid gpbf;f> tpisahl;L tPuh; ifapid 
gpd;Ndhf;fp ,Oj;J Nkhjy; fhyj;ij mjpfhpf;fpwhh;> ,e;j vLj;Jf;fhl;L vij 
Fwpf;fpwJ?  
a. epA+l;ld; 1k; ,af;f tpjp b. Neh;Nfhl;L ce;jk;   c. fzj;jhf;F tpir  
d. epA+l;ldpd; 2-k; ,af;f tpjp  e. tpil njhpatpy;iy 

 
84. Which among the following ways does the transfer of charges takes place?  

a. Transfer by Friction  b. Transfer by conduction  c. transfer by induction   
d. All the above   e. Answer not known 
fPo;fz;ltw;Ws; ve;j Kiwfspy; xU nghUspypUe;J kw;nwhU nghUSf;F kpd;Jfs;fs; 
,lkhw;wkilfpd;wd.  
a. cuha;T %yk; ,lkhw;wk;   b. flj;Jjy; %yk; ,lkhw;wk;  
c. kpd;J}z;ly; %yk; ,lkhw;wk;   d. Nkw;fz;l midj;Jk;  
e. tpil njhpatpy;iy 

 
85. Fraunhofer lines are an example of __________ spectrum?  

a. line emission   b. line absorption    c. band emission   
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d. band absorption  e. Answer not known 
gpuhd;N`hgh; thpfs; vt;tif epwkhiyf;F vLj;Jf;fhl;L?  
a. thp ntspaPL   b. thp cl;fth;    c. gl;il ntspaPL   
d. gl;il cl;fth;   e. tpil njhpatpy;iy 

86. When the car engine is started with headlights turned on, they sometimes become dim. 
This is due to __________?  
a. Internal Resistance  b. Kirchoff current law   c. Kirchoff voltage law   
d. ohm's law   e. Answer not known 
fhhpy; Kfg;G tpsf;F vhpAk; epiyapy; vd;[pid ,af;Fk; NghJ Kfg;G tpsf;fpd; 
nghypT rpwpJ FiwAk;. ,jw;F fhuzk; ____________?  
a. kpd;fyj;jpd; mfkpd;jil    b. fph;f;fh/g; kpd;Ndhl;l tpjp  
c. fph;f;fh/g; kpd;dOj;j NtWghL tpjp   d. Xk; tpjp  
e. tpil njhpatpy;iy 

 
87. calculate the current of 50W, 100V electric bulb in an electric circuit.  

a. 0.5 A  b. 5A  c. 1A  d. 2A   e. Answer not known 
xU kpd;Rw;wpy; nghUj;jg;gl;Ls;s 50W, 100V  kpd;tpsf;fpy; ghAk; kpd;Ndhl;lk; 
fzf;fpLf.  
a. 0.5 A  b. 5A  c. 1A  d. 2A   e. tpil njhpatpy;iy  
 

88. When a body is partially or completely immersed in a fluid at rest, it experiences an 
upthrust which is equal to the weight of the fluid displaced by it. It is known as 
__________.  
a. Pascal law   b. Archimedes Principle   c. Buoyancy    
d. Surface tension    e. Answer not known 
xU nghUs; KOikahfNth gFjpahfNth Xa;Tepiyapy; cs;s gha;kj;jpy; %o;Fk; 
NghJ> mg;nghUs; ,lg;ngah;r;rp nra;j gha;kj;jpd; vilf;Fr; rkkhd Nky;Nehf;F 
tpiria czUk;. ,ij vt;thW miof;fg;gLfpwJ?  
a. gh];fy; tpjp  b. Mh;f;fpkpb]; jj;Jtk;   c. kpjg;Gj; jd;ik  
d. gug;G ,Otpir  e. tpil njhpatpy;iy 

 
89. The molecules of a liquid experience a force which contracts the extent of their surface 

area as much as possible, so as to have the minimum value. It is the property of 
__________? 
a. viscosity    b. Surface tension   c. Atmosphere pressure   
d. pascal law    e. Answer not known 
jput %yf;$Wfs; jq;fshy; ,ad;w msT kPr;rpW Gwg;gug;ig nfhz;bUf;Fk; gb 
mtw;wpd; kPJ xU tpir nray;gLfpwJ ,ij __________ vd;W tiuaWf;fg;gLfpwJ. 
a. ghfpay; tpir  b. gug;G ,Otpir   c. tspkz;ly mKj;jk;  
d. gh];fy; tpjp   e. tpil njhpatpy;iy 

 
90. Which of the following liquids has more viscosity?  

a. Grease   b. water    c. coconut oil    
d. Ghee   e. Answer not known 
fPo;fhZk; jputq;fSs; vJ mjpf ghFepiy cilaJ?  
a. fphP];  b. ePh;    c. Njq;fha; vz;nza;   
d. nea;   e. tpil njhpatpy;iy 

 
91. The wettability of a surface by a liquid depends primarily on  

a. Viscosity    b. Surface tension  
c. density    d. Angle of contact between the surface and the liquid  
e. Answer not known 
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xU gug;ig xU jputj;jhy; <ukhf;Fk; msT Kjd;ikahf rhh;e;Js;sJ ____________?  
a. ghFepiy   b. gug;G ,Otpir  
c. mlh;j;jp    d. gug;Gf;Fk; jputj;jpw;Fk; ,ilNa cs;s Nrh;Nfhzk;  
e. tpil njhpatpy;iy 

92. Nichrome is a conductor with highest resistivity equal to __________. 
a. 1.5 × 10-6 Ωm   b. 1.4 × 10-8 Ωm   c. 1.5 × 10-10 Ωm   
d. 2 × 10-8 Ωm   e. Answer not known 
epf;Nuhk; vd;gJ kpf cau;e;j kpd;jil vz; nfhz;l xU flj;jpahFk;. mjd; kjpg;ig 
fhz;f: _____________ 
a. 1.5 × 10-6 Ωm   b. 1.4 × 10-8 Ωm   c. 1.5 × 10-10 Ωm   
d. 2 × 10-8 Ωm   e. tpil njhpatpy;iy  

 

93. Distance between the pole and the principle axis is known as __________ 
a. Focal length   b. Focus    c. Radius of curvature   
d. Centre of curvature  e. Answer not known 
Mb ikaj;jpw;Fk;> Kjd;ikf; Ftpaj;jpw;Fk; ,ilg;gl;l njhiyT ___________ vd;w 
miof;fg;gLfpwJ?  
a. Ftpa njhiyT  b. Ftpak;    c. tpisT Muk;   
d. tisT ikak;   e. tpil njhpatpy;iy 

 
94. Speed of Light in air is 3 × 108 m/s and the speed of light in a medium is 2 × 108 m/s. 

find the refractive index of the medium with respect to air?  
a. 1.2   b. 1. 3  c. 1.4   d. 1.5   e. Answer not known 
fhw;wpy; xspapd; jpirNtfk; 3 × 108  kw;Wk; NtnwhU Clfj;jpy; xspapd; jpirNtfk; 3 
× 108  fhw;iwg; nghUj;J me;j Clfj;jpd; xsptpyfy; vz;izf; fhz;f.  
a. 1.2   b. 1. 3  c. 1.4   d. 1.5   e. tpil njhpatpy;iy 

 

 

95. MCB is __________. 
a. Minimum circuit breaker  b. Miniature circuit breaker  
c. Miniature current breaker  d. Minimum current breaker  
e. Answer not known 
MCB vd;gJ 
a. Minimum circuit breaker  b. Miniature circuit breaker  
c. Miniature current breaker  d. Minimum current breaker  
e. tpil njhpatpy;iy 

 

96. Kilowatt hour is the unit of __________.  
a. Resistivity   b. Conductivity   c. Electrical energy    
d. Electrical power  e. Answer not known 
fpNyh thl; kzp vd;gJ vjDila myF?  
a. kpd; jil vz;  b. kpd; flj;jp jpwd;  c. kpd; Mw;wy;   
d. kpd; jpwd;   e. tpil njhpatpy;iy 

 

97. Resistance of a wire depends on  
a. Temperature   b. Geometry    c. nature of material   
d. All the above   e. Answer not known 
xU fk;gpapd; kpd;jil vijg; nghWj;J mikAk;?  
a. ntg;gepiy   b. tbtk;    c. fk;gpapd; ,ay;G    
d. ,itaidj;Jk;  e. tpil njhpatpy;iy  

 
98. Relative density of the substance is  
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a. 
tan

4

Densityof the subs ce

Densityof water at C
  b. 

tan

3

Densityof the subs ce

Densityof water at C
 

c. 
tan

2

Densityof the subs ce

Densityof water at C
  d. 

tan

1

Densityof the subs ce

Densityof water at C
 

e. Answer not known 
xg;glh;j;jp (R.D) = _____________ 

a. 
C

nghUspd; mlh; j; jp 

ehP pd; mlh; j; jp (4 )
   b. 

C

nghUspd; mlh; j; jp 

ehP pd; mlh; j; jp (3 )
 

c. 
C

nghUspd; mlh; j; jp 

ehP pd; mlh; j; jp (2 )
   d. 

C

nghUspd; mlh; j; jp 

ehP pd; mlh; j; jp (1 )
 

e. tpil njhpatpy;iy 
 
 

99. Bulk modulus is defined as? 

a. n

v

-
K =  





  b. n

n

K = 




   c. v

n

-
K =  





   

d. v

n

K = 



  e. Answer not known 

gUkf; Fzfk; vd;gJ _______? 

a. n

v

-
K =  





  b. n

n

K = 




   c. v

n

-
K =  





   

d. v

n

K = 



  e. tpil njhpatpy;iy  

 
100. Which of the following is the application of Bernoulli’s theorem? 

a. Aerofoil lift   b. Bunsen burner   c. Venturimeter  
d. all the above   e. Answer not known 
fPo;fz;ltw;Ws; vJ ngu;ndsypkp Njhw;wj;jpd; gad;ghLfs;? 
a. tpkhd ,wf;if cau;j;jy; b. Gd;rd; RluLg;G  c. ntd;Rupkhdp   
d. Nkw;fz;l midj;Jk;  e. tpil njhpatpy;iy 

 
101. Electromagnetic waves are ______? 

a. Transverse waves  b. Longitudinal waves  c. Mechanical waves 
d. None of the above  e. Answer not known 
kpd;fhe;j miyfs; vd;git _______? 
a. FWf;fiy   b. nel;liy    c. ,ae;jpu miyfs;  
d. Nkw;fz;l vJTkpy;iy  e. tpil njhpatpy;iy 

 
102. What is the wavelength range of radio waves? 

a. 10-1 to 104m  b. 10-2 to 103m   c. 10-3 to 105m  
d. 10-1 to 105m  e. Answer not known 
NubNah miyfspd; miyePsk; neLf;fj;ij fhz;f? 
a. 10-1 to 104m  b. 10-2 to 103m   c. 10-3 to 105m  
d. 10-1 to 105m  e. tpil njhpatpy;iy  

 
103. One atomic mass unit (u) is defined as 

a. 
12
6mass of atom

12

C
   b. 

12
6mass of atom

13

C
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c. 
12
6mass of atom

14

C
   d. 

12
6mass of atom

15

C
 

e. Answer not known 
 
 
 
mZ epiw myF vd;gJ _______. 

a. 
12
6

12

C mZtpd;  epiw
  b. 

12
6

13

C mZtpd;  epiw
 

c. 
12
6

14

C mZtpd;  epiw
  d. 

12
6

15

C mZtpd;  epiw
  

e. tpil njhpatpy;iy 
 

104. Which among the following are the properties of neutrino? 
a. It has zero charge  b. It has an antiparticle c. It has very tiny mass  
d. All the above   e. Answer not known 
fPo;fz;ltw;Ws; vJ epA+l;upNdh gz;Gfisg; ngw;Ws;sJ? 
a. mjd; kpd;D}l;lk; Rop MFk;.  
b. mJ vjpu; epA+l;upNdh vd;w vjpu;j;Jfis ngw;Ws;sJ. 
c. kpfr;rpwpa epiwia epA+l;upNdh ngw;Ws;sJ. 
d. Nkw;fz;l midj;Jk;. 
e. tpil njhpatpy;iy 

 
105. A fuse: 

a. Is a safety device and regulates flow of current 
b. Is made up of tin and lead alloy 
c. Has low melting point 
d. All of the above  
e. Answer not known 
kpd;cUfp vd;gJ ___________.  
a. ghJfhg;G fUtp kw;Wk; kpd;Ndhl;lj;ij xOq;FgLj;Jk; fUtp 
b. nts;sPak; kw;Wk; <a cNyhf fyitahy; MdJ  
c. Fiwe;j cUFepiy nfhz;lJ 
d. NkNy cs;s midj;Jk;  
e. tpil njhpatpy;iy 

 
106. The blue colour of water in the sea is due to: 

a. Reflection of blue sky by sea water  
b. Reflection of blue light by impurities in sea water 
c. Scattering of blue light by water molecules 
d. Absorption of other colours except blue by water molecules  
e. Answer not known 
flypy; cs;s ePh; ePy epwkhf ,Ug;gjw;fhd fhuzk; __________.  
a. fly; ePuhy; vjpnuhspf;fg;gLk; ePy thdk;. 
b. fly; ePupYs;s khRfshy; ePy epw xsp vjpnuhspf;fg;gLjy;.  
c. ePH; %yf;$Wfshy Vw;;gLk; ePy epw xspr;rpjwy;. 
d. ePh; %yf;$Wfs; ePy epwj;ijj; jtpu kw;w epwq;fis cwpQ;rgLjy;  
e. tpil njhpatpy;iy 
 



 

22 | Page PH: 044 - 24339436, 42867555, 9840226187 

 

107. In Einstein’s special theory of relativity which of the following holds true:  
a. Velocity of light from a stationary source alone is constant 
b. Velocity of light from a moving source alone is constant 
c. Velocity of light from any source is constant 
d. Velocity of light through different media is constant 
e. Answer not known 
Id;];Bdpd; rpwg;G rhh;gpay; Nfhl;ghl;by; gpd;tUtdtw;wpy; vJ cz;ikahd 
Nfhl;ghlhf tiuaWf;fg;gLfpwJ.  
a. epiyahd %yj;jpypUe;J tUk; xspapd; jpirNtfk; kl;LNk khwhJ.  
b. efUk; %yj;jpypUe;J tUk; xspapd; jpirNtfk; kl;LNk khwhJ.  
c. xspapd; jpirNtfk; ve;jnthU %yj;jpypUe;J tUk;NghJk; khwhJ.  
d. ntt;NtW Clfq;fspYk; xspapd; jpirNtfk; khwhJ.  
e. tpil njhpatpy;iy 

 
108. Bleeding from nose is caused when a person is there at: 

a. Higher altitude where atmospheric pressure is low  
b. lower altitudes where atmospheric pressure is high 
c. Normal altitude where atmospheric pressure is high 
d. No effect of altitude 
e. Answer not known 
xU egu; vq;Nf ,Uf;Fk;NghJ mth; %f;fpypUe;J ,uj;jk; frpAk;?  
a. mjpf cauj;jpy; tspkz;ly mOj;jk; Fiwthf ,Uf;Fk; nghOJ 
b. Fiwe;j cauj;jpy; tspkz;ly mOj;jk; mjpfkhf ,Uf;Fk; nghOJ  
c. Fwpg;gpl;l cauj;jpy; tspkz;ly mOj;jk; mjpfkhf ,Uf;Fk; nghOJ 
d. cauj;jpdhy; ve;j tpisTk; Vw;gLtjpy;iy  
e. tpil njhpatpy;iy 

 
109. One can hear no sound on moon because  

a. Moon has a low mass   b. Moon has a low Temperature 
c. Moon has no atmosphere  d. Moon has no gravity 
e. Answer not known 
epytpy; xypiaf; Nfl;f KbahJ Vd;?  
a. epyT Fiwe;j epiw nfhz;lJ  b. epytpy; Fiwe;j ntg;gepiy cs;sJ  
c. epytpy; tspkz;lyk; ,y;iy   d. epytpw;F <u;g;G ,y;iy  
e. tpil njhpatpy;iy 

 
110. Which of the following elements is a semiconductor? 

a. Aluminium  b. Mercury    c. Silicon   
d. Silver   e. Answer not known 
gpd;tUk; jdpkq;fspy; vJ Fiwf;flj;jp? 
a. mYkpdpak;  b. ghjurk;    c. rpypf;fhd;   
d. nts;sp   e. tpil njhpatpy;iy 

 
111. How many pairs are correctly matched? 

1. Periscope  - Principle of refraction of light 
2. Kaleidoscope - Principle of multiple reflection of light 
3. Convex mirror - Used as rear-view mirrors in vehicles 
4. Concave mirror - Used in torches and head lights 
a. One pair   b. Two pairs    c. Three pairs  
d. Four pairs  e. Answer not known 
gpd;tUtdtw;Ws; vj;jid ,izfs; rhpahf nghUj;jg;gl;Ls;sd? 
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1. ngup];Nfhg; - xspapd; xsptpyfy; jj;Jtk; 
2. fiylh];Nfhg; - xspapd; gd;Kf vjpnuhspg;Gj; jj;Jtk;  
3. Ftp Mb  - thfdq;fspy; gpd;fhl;rp Mbfshfg; gad;gLfpwJ 
4. Fop Mb  - lhh;r; tpsf;Ffs; kw;Wk; thfd Kfg;G tpsf;Ffspy; gad;gLfpwJ 
a. xU ,iz  b. ,uz;L ,izfs;   c. %d;W ,izfs; 
d. ehd;F ,izfs; e. tpil njhpatpy;iy 

 
112. Identify the correct statements about the properties of light 

i. Light always travels along a straight line. 
ii. Light always needs a medium for its propagation. 
iii. Light cannot travel through Vacuum. 
iv. When light is incident on the interface between two media, it is partly reflected 

and partly refracted. 
a. i, ii  b. ii, iii  c. iii, iv d. i, iv  e. Answer not known 
fPo;fz;ltw;Ws; xspapd; gz;Gfs; Fwpj;J rhpahd thf;fpaq;fisj; Njh;T nra;f. 
i. xsp vg;NghJk; Neh;Nfhl;by; nry;fpwJ. 
ii. xsp guTtjw;F VNjDk; xU Clfk; Njit. 
iii. ntw;wplj;jpd; topahf xspf;fjph; nry;yhJ. 
iv. xspahdJ ,U NtW Clq;fspd; ,ilKfg;ig milAk; NghJ> mJ gFjpasT 

vjpnuhspf;Fk;> gFjpasT tpyfy; milAk;. 
a. i, ii  b. ii, iii  c. iii, iv d. i, iv  e. tpil njhpatpy;iy  

 
113. Match the following 

Nature of object/image    Condition 
A. Real image  1. Rays actually converge at the image 
B. Virtual image  2. Rays appear to diverge from the image 
C. Real object  3. Rays actually diverge from the object 
D. Virtual object  4. Rays appear to converge at the object 

A B C D 
a.  1 2 3 4 
b.  2 1 4 3 
c.  1 2 4 3 
d.   2 1 3 4 
e. Answer not known 
nghUj;Jf: 
nghUs;/gpk;gj;jpd; jd;ik  epge;jid 
A. nka; gpk;gk;    1. cz;ikahfNt fjph;fs; gpk;gj;jpy; FtpAk; 
B. kha gpk;gk;   2. gpk;gj;jpypUe;J fjph;fs; gphptJ Nghd;W Njhd;Wk; 
C. nka;g; nghUs;   3. cz;ikahfNt fjph;fs; nghUspypUe;J gphptilAk; 
D. khag; nghUs;   4. fjph;fs;> nghUspy; Ftptijg; Nghd;W Njhd;Wk;  

A B C D 
a.  1 2 3 4 
b.  2 1 4 3 
c.  1 2 4 3 
d.   2 1 3 4 
e. tpil njhpatpy;iy 

 
114. Consider a person of mass m, who is travelling in a lift which is moving upwards.  

What is the difference between his Apparent weight and Actual weight? 
a. Apparent weight is greater than the actual weight 
b. Apparent weight is lesser than the actual weight 
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c. Apparent weight is equal to the actual weight 
d. Apparent weight is equal to zero 
e. Answer not known 
m vd;w epiw nfhz;l xUth; kpd;J}f;fpapy; Nky; Nehf;fp efh;fpwhh;.  mtUila Njhw;w 
vil kw;Wk; epiyahd vil vt;thW khWgLfpwJ? 
 
 
a. Njhw;w vil> epiyahd vilia tpl mjpfk; 
b. Njhw;w vil> epiyahd vilia tpl FiwT 
c. Njhw;w vil> epiyahf cs;s vilf;F rkk; 
d. Njhw;w vilapy; kjpg;G RopahFk; 
e. tpil njhpatpy;iy 

 
115. When you move to a higher altitude from the surface of earth, the value of g _____. 

a. Increases   b. decreases   c. Remains the same   
d. Zero   e. Answer not known 
ehk; Gtpapd; jiug;gFjpapy; ,Ue;J cauj;jpw;F nry;Yk;NghJ Gtp<h;g;G KLf;fk; _____. 
a. mjpfhpf;Fk;  b. FiwAk;   c. khwhJ   
d. Rop   e. tpil njhpatpy;iy 

 
116. Match the following 

 Instruments     Uses 
A. Ammeter  1. Used to measure potential difference 
B. Voltmeter  2. Used for providing resistance 
C. Electrolyte 3. Used for measuring current 
D. Resistors  4. Solution through which electric current flows 

A B C D 
a.  1 2 3 4 
b.  3 1 4 2 
c.  1 3 2 4 
d.   4 3 2 1 
e. Answer not known 
nghUj;Jf 
 fUtp    gad;fs; 
A. mk;kPl;lh;  1. kpd;dOj;j NtWghl;il mstpLk; 
B. Nthy;l; kPl;lh; 2. kpd;jilia mspf;Fk; fUtp 
C. kpd;gFsp  3. kpd;Ndhl;lj;ij mstpLk; 
D. kpd;jilaq;fs; 4. kpd;rhuk; guTk; jputk; 

A B C D 
a.  1 2 3 4 
b.  3 1 4 2 
c.  1 3 2 4 
d.   4 3 2 1 
e. tpil njhpatpy;iy 

 
117. Identify the correct statement about the properties of magnetic lines of force 

i. Magnetic lines of force start from the North pole and end at the South pole. 
ii. Magnetic lines of force intersect at poles. 
iii. Magnetic lines of force will be maximum at the poles than at the equator. 
a. i and ii   b. ii and iii   c. i and iii   
d. All the above  e. Answer not known 
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fPo;fz;ltw;Ws; fhe;jtpirf; NfhLfspd; gz;Gfs; gw;wpa rhpahd thf;fpaq;fisj; Njh;T 
nra;f. 
i. fhe;jtpirf; NfhLfs; fhe;jj;jpd; tl JUtj;jpy; Jtq;fp njd; JUtj;jpy; 

KbtilAk; 
ii. fhe;jtpirf; NfhLfs; JUtq;fspy; ntl;bf; nfhs;Sk;. 
iii. fhe;jtpirf; NfhLfs; fhe;jj;jpd; eLg;gFjpia tpl JUtq;fspy; mjpfkhf 

,Uf;Fk;. 
a. i kw;Wk; ii   b. ii kw;Wk; iii   c. i kw;Wk; iii   
d. Nkw;$wpa midj;Jk; e. tpil njhpatpy;iy 

 
118. Match the following 

A. Motor   1. Device used to convert Mechanical energy into electrical  
energy. 

B. MRI   2. Converts low alternating current to high alternating  
current. 

C. Transformer  3. Used to obtain image of internal parts of our body. 
D. Electric Generator 4. Device which converts electrical energy into Mechanical  

energy. 
A B C D 

a.  1 2 3 4 
b.  2 1 4 3 
c.  4 1 3 2 
d.   4 3 2 1 
e. Answer not known 
nghUj;Jf: 
A. Nkhl;lhh;   1. ,af;f Mw;wiy kpd;dw;wyhf khw;Wk; xU fUtp 
B. vk;. Mh;. I  2. Fiwe;j khWjpir kpd;Ndhl;lj;ij mjpf khWjpir  

kpd;Ndhl;lkhf khw;Wk; fUtp. 
C. kpd;khw;wp   3. clypd; cl;Gwq;fspd; gpk;gq;fisf; fhz cjTk; fUtp. 
D. kpd;dpaw;wp  4. kpd;dhw;wiy ,ae;jpu Mw;wyhf khw;Wk; fUtp. 
  A B C D 
a.  1 2 3 4 
b.  2 1 4 3 
c.  4 1 3 2 
d.   4 3 2 1 
e. tpil njhpatpy;iy 

 
119. What is the unit of Magnetic Flux? 

a. Tesla  b. Pico tesla   c. Weber   
d. Weber/m2 e. Answer not known 
fhe;jg; Gyj;jpd; myF ahJ? 
a. nl];yh  b. gpNfh nl];yh  c. ntgh;   
d. ntgh;/kP2  e. tpil njhpatpy;iy 

 
120. Identify the correct statements. 

i. Sound is produced due to Vibration. 
ii. Sound travels through Vacuum. 
iii. Sound travels as a longitudinal wave through a medium. 

a. i and ii  b. ii and iii    c. i and iii   
d. i, ii and iii  e. Answer not known 
fPo;fz;ltw;Ws; rhpahd thf;fpaq;fisj; Njh;T nra;f. 
i. nghUs;fspd; mjph;tpdhy; xyp cz;lhfpwJ. 
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ii. ntw;wplj;jpd; topNa xyp guTfpwJ. 
iii. xypahdJ neUf;fkhfTk; neopr;rpahfTk; Clfj;jpd; topNa guTfpwJ. 
a. i and ii  b. ii and iii    c. i and iii   
d. i, ii and iii  e. tpil njhpatpy;iy 

 
 

121. Match the following: 
A. Amplitude  1. The region of decreased pressure 
B. Frequency  2. Characteristics of Sound based on Frequency. 
C. Pitch   3. Number of Waves produced in one second. 
D. Rarefactions  4. The maximum displacement of a particle. 
  A B C D 
a.  1 2 3 4 
b.  2 1 4 3 
c.  3 4 1 2 
d.   4 3 2 1 
e. Answer not known 
nghUj;Jf: 
A. tPr;R   1. Fiwe;j mOj;jg; gFjp 
B. mjph;ntz;  2. mjph;ntz;izr; rhh;e;j xypapd; gz;G 
C. RUjp   3. xU tpdhb Neuj;jpy; cz;lhFk; miyfspd; vz;zpf;if 
D. nefpo;r;rp   4. Jfspd; ngUk; ,lg;ngah;r;rp 
  A B C D 
a.  1 2 3 4 
b.  2 1 4 3 
c.  3 4 1 2 
d.   4 3 2 1 
e. tpil njhpatpy;iy 

 
122. Identify the correct statements about a LED bulb. 

i. It is not harmful to the environment 
ii. It is cost-efficient and energy efficient 
iii. A wide range of colours are not possible 
a. i and ii   b. ii and iii   c. i and iii   
d. All the above  e. Answer not known 
fPo;fz;ltw;Ws; LED kpd; tpsf;Ffs; gw;wpa rhpahd thf;fpaq;fisj; Njh;T nra;f. 
i. LED kpd; tpsf;Ffs; Rw;Wr;#oy; ghjpg;ig Vw;gLj;jhJ. 
ii. ,J kypT tpiy kw;Wk; Mw;wy; rpf;fdk; cilaJ. 
iii. gy epwq;fspy; ntspaPl;bid ngw;Wf;nfhs;s rhj;jpakhfhJ. 
a. i kw;Wk; ii   b. ii kw;Wk; iii   c. i kw;Wk; iii   
d. Nkw;$wpa midj;Jk; e. tpil njhpatpy;iy 

 

123. Propulsion of rocket is based on _____. 
a. Newtons First Law   b. Newtons Second Law 
c. Newtons Third Law   d. Newtons Law of Gravitation 
e. Answer not known 
uhf;nfl; VTjypy; gad;gLj;jg;gLk; tpjp _____. 
a. epA+l;ldpd; Kjyhk; tpjp  b. epA+l;ldpd; ,uz;lhk; tpjp 
c. epA+l;ldpd; %d;whk; tpjp  d. epA+l;ldpd; <h;g;gpay; tpjp 
e. tpil njhpatpy;iy 
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124. Identify the incorrectly matched pair. 
a. Nebular hypothesis - Laplace 
b. Big Bang theory  - Lemaitre 
c. Accretion theory  - Hubble 
d. Elliptical galaxy  - Messier 89 
e. Answer not known 
jtwhd ,iziaf; fz;lwpf. 
a. neGyhh; fUJNfhs; - yhg;Ny]; 
b. ngUntbg;G Nfhl;ghL - Nykl;Nu 
c. mfj;jpusT Nfhl;ghL - `g;gps; 
d. ePs;tl;l mz;lk; - nk];]pah; 89 
e. tpil njhpatpy;iy 

 
125. Oort cloud is located in the 

a. Atmosphere of Pluto   b. Photosphere of the Sun 
c. Region beyond Kuiper belt  d. The Asteroid belt 
e. Answer not known 
Ch;l; Nkfq;fs; vq;F mike;Js;sd? 
a. G@l;Nlhtpd; tspkz;lyj;jpy;  b. #upadpd; xspf;Nfhsj;jpy; 
c. Fa;g;gh; kz;lyj;jpw;F mg;ghy;  d. rpWNfhs; kz;lyj;jpy; 
e. tpil njhpatpy;iy 

 
126. Autumn equinox in southern hemisphere takes place on 

a. March 21st b. March 23rd   c. September 23rd   
d. September 21st   e. Answer not known 
njd; JUtj;jpy; ,iyAjph;fhy rkehs; 
a. khh;r; 21    b. khh;r; 23   c. nrg;lk;gh; 23   
d. nrg;lk;gh; 21  e. tpil njhpatpy;iy 

 
127. Egyptians may have used ______ to align the Pyramids along the cardinal points. 

a. Spring equinox   b. Autumn equinox   c. Summer solstice  
d. Winter solstice   e. Answer not known 
gpukPLfis Gtpapy; ehd;F jpirg;Gs;spfspy; xOq;fikf;f> vfpg;jpah;fs; _______ ehis 
gad;gLj;jp ,Uf;fyhk; vd;W fUjg;gLfpwJ. 
a. tre;j fhy rkehs;   b. ,iyAjph; fhy rkehs; 
c. Nfhil ePz;l gfy; ,uT ehs;  d. Fsph;fhy ePz;l gfy; ,uT ehs; 
e. tpil njhpatpy;iy 

 
128. Water is used as a coolant in Car radiators and factories because 

a. It has lower density   b. It has low specific heat capacity 
c. It has high specific heat capacity d. It is ubiquitous 
e. Answer not known 
thfdq;fspd; ntg;gk; jdpf;Fk; mikg;GfspYk; njhopw;rhiyfspYk; ePh; Fsph;tpg;ghdhf 
gad;gLj;jg;gl fhuzk;. 
a. Fiwe;j mlh;j;jp    b. Fiwe;j jd;ntg;g Vw;Gj;jpwd; 
c. mjpf jd;ntg;g Vw;Gj;jpwd;  d. vspjpy; fpilf;ff; $baJ 
e. tpil njhpatpy;iy 

 
129. The unit of intensity of sound is 

a. Deci Bel (dB)  b. Hertz (Hz)   c. Candela 
d. Radian   e. Answer not known 
xyp nrwptpd; myF 
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a. nlrpngy; (dB)  b. n`h;l;]; (Hz)  c. Nfz;byh 
d. Nubad;   e. tpil njhpatpy;iy 

 

130. Consider the following based on the speed of sound in different media 
a. Vaccum > Gases > Solids  b. Solids < Liquids < Gases 
c. Gases < Liquids < Solids  d. Vaccum = Gases > Solids 
e. Answer not known 
gy;NtW Clfq;fspy; xypapd; Ntfj;ijg; nghWj;J gpd;tUtdtw;iw Ma;f. 
a. ntw;wplk; > thA > jpz;kk;  b. jpz;kk; < jputk; < thA 
c. thA < jputk; < jpz;kk;  d. ntw;wplk; = thA > jpz;kk; 
e. tpil njhpatpy;iy 

 
131. SONAR stands for 

a. System of Navigation and Research 
b. Sound Navigation and Ranging 
c. Sound Optimised for Navigation and Research 
d. Sound Navigation and Research 
e. Answer not known 
Nrhdhh; (SONAR) vd;w nrhy;ypd; tphpthf;fk; 
a. System of Navigation and Research 
b. Sound Navigation and Ranging 
c. Sound Optimised for Navigation and Research 
d. Sound Navigation and Research 
e. tpil njhpatpy;iy 

 
132. Orbital velocity can be calculated by 

a. √
𝐺𝑀

2𝑅
  b. √

2𝐺𝑀

𝑅
   c. √

𝐺𝑀

(𝑅+ℎ)
   

d. √
2𝐺𝑀

(𝑅−ℎ)
  e. Answer not known 

Rw;wpaf;f jpirNtfj;ij vijf; nfhz;L fzf;fplyhk;? 

a. √
𝐺𝑀

2𝑅
  b. √

2𝐺𝑀

𝑅
   c. √

𝐺𝑀

(𝑅+ℎ)
   

d. √
2𝐺𝑀

(𝑅−ℎ)
  e. tpil njhpatpy;iy 

 
133. Liquid Petroleum gas contain mixture of 

a. Propane and Octane   b. Ethane and Butane 
c. Methane and Propene   d. Butane and Propane 
e. Answer not known 
jputkhf;fg;gl;l ngl;Nuhypa thA> ve;j thAf;fspd; fyitiaf; nfhz;Ls;sJ? 
a. GNuhg;Ngd; kw;Wk; Mf;Nld;  b. <j;Njd; kw;Wk; gpa+l;Nld; 
c. kPj;Njd; kw;Wk; GNuhg;Ngd;  d. gpA+l;Nld; kw;Wk; GNuhg;Ngd; 
e. tpil njhpatpy;iy 

 
134. Match the following 

A. Solid + Gas  1. Gel 
B. Liquid + Liquid  2. Foam 
C. Liquid + Solid  3. Emulsion 
D. Gas + Liquid  4. Aerosol 
  A B C D 
a.  1 2 4 3  
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b.  1 2 3 4  
c.  4 1 2 3  
d.  4 3 1 2 
e. Answer not known  
 
 
 
nghUj;Jf 
A. jpz;kk; + thA  1. $o; 
B. jputk; + jputk;  2. Eiu 
C. jputk; + jpz;kk; 3. ghy;kk; 
D. thA + jputk;  4. J}rpg;glyk; 
  A B C D 
a.  1 2 4 3  
b.  1 2 3 4  
c.  4 1 2 3  
d.  4 3 1 2 
e. tpil njhpatpy;iy 

 

135. Particles in a colloidal solution moving constantly and rapidly in zig-zag directions is 
called 

 a. Brownian movement  b. Tyndall effect   c. Diffusion   
d. Willis motion   e. Answer not known 
$o;kj; Jfs;fs; ,q;Fk; mq;Fkhf xOq;fw;w epiyapy; rPuhfTk;   NtfkhfTk; efh;tJ 

 a. gpnusdpad; ,af;fk;  b. bz;lhy; tpisT   c. tpuTjy;   
d. tpy;yp]; efh;T   e. tpil njhpatpy;iy 

 
136. Identify the correct statement/s 

I. Chemical properties of elements are decided by the valence electrons. 
II. Elements with same number of electrons in the valence shell show similar 

properties. 
a. I only       b. II only   c. Both I and II   
d. Neither I nor II   e. Answer not known 
rhpahd $w;Wfisf; fz;lwpf 
I. jdpkq;fspd; Ntjpg;gz;Gfs; mtw;wpd; ,izjpwd; vyf;l;uhd;fshy; 

jPh;khdpf;fg;gLfpd;wd. 
II. ntsptl;lg;ghijapy; rk vz;zpf;ifapy; vyf;l;uhd;fis cila jdpkq;fs; xNu 

khjphpahd gz;Gfisf; nfhz;bUf;Fk;. 
a. I kl;Lk;    b. II kl;Lk;   c. I kw;Wk; II   
d. Nkw;fz;l vJTkpy;iy  e. tpil njhpatpy;iy 

 
137. World’s first general purpose Computer was 

 a. IBM 405  b. ENIAC   c. EDVAC   
d. UNIVAC I e. Answer not known 

 cyfpd; Kjy; gad;ghl;Lf; fzpdp 
 a. IBM 405  b. ENIAC   c. EDVAC   

d. UNIVAC I e. tpil njhpatpy;iy 
 

138. Identify the correctly matched pairs among the following. 
I. First equation of motion – v = u + at 
II. Second equation of motion – s = at + ½ ut2 
III. Third equation of motion – u2 = v2 + 2as 
a. I and II only  b. II only   c. I, II and III   
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d. I only   e. Answer not known 
gpd;tUtdtw;wpy; rhpahd ,izia Njh;e;njL. 
I. Kjy; ,af;fr; rkd;ghL – v = u + at 
II. ,uz;lhk; ,af;fr; rkd;ghL – s = at + ½ ut2 
III. %d;whtJ ,af;fr; rkd;ghL – u2 = v2 + 2as 
a. I kw;Wk; II   b. II kl;Lk;   c. I, II kw;Wk; III  
d. I kl;Lk;   e. tpil njhpatpy;iy 

139. Any force like gravitational force, frictional force, magnetic force, electrostatic force may 
act as a, 
a. Centrifugal force  b. Spring force  c. Tension force    
d. Centripetal force  e. Answer not known 
<u;g;G tpir> cuha;T tpir> fhe;j tpir> epiy kpd;dpay; tpir kw;Wk; ,JNghd;w ve;j 
xU tpirAk; ___ Nghd;W nray;gLk;. 
a. ikaNehf;F tpir b. RUs; tpir   c. ,otpir    
d. ikatpyf;F tpir e. tpil njhpatpy;iy 

 
140. Which of the following are correctly matched? 

I. Hydrometer – Relative density of liquid 
II. Lactometer – Creaminess of milk 
III.  Alcoholmeter – Consumption of alcohol 
a. I and III only  b. III only   c. I and II only    
d. All the above  e. Answer not known 
fPo;fz;ltw;iw rhpahf nghUe;jpaij fhz;f? 
I. jputkhdp - jputj;jpd; xg;glu;j;jp 
II. ghy;khdp - ghypy; cs;s ntz;izapd; msT 
III. rhuhakhdp - rhuhaj;jpd; Efu;T 
a. I kw;Wk; III  b. III kl;Lk;   c. I kw;Wk; II kl;Lk;   
d. Nkw;fz;l midj;Jk; e. tpil njhpatpy;iy 

 
141. Consider the following 

Assertion (A): Magnetic field shields ozone layer from solar wind. 
Reason (R): Earth produces it’s own magnetic field. 
a. (A) alone is correct (R) is incorrect. 
b. (A) and (R) are correct and (R) is the correct explanation of (A) 
c. (A) and (R) are incorrect 
d. (A) and (R) are correct but (R) is not the correct explanation of (A). 
e. Answer not known 
fPo;fz;l $w;iw ftdp: 
$w;W (A): fhe;jg;Gyk; #upadpd; #upaf; fhw;wpypUe;J G+kpapd; XNrhd; mLf;ifg; 
ghJfhf;fpwJ. 
fhuzk; (R): G+kp mjd; fhe;jg;Gyj;ij mJthfNt cUthf;FfpwJ. 
a. (A) rup> Mdhy; (R) jtW 
b. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk;. 
c. (A) kw;Wk; (R) jtW 
d. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk; my;y 
e. tpil njhpatpy;iy 

 
142. Force experienced by a charge moving in a magnetic field, in a direction other than the 

direction of magnetic field is, 
a. Faraday force  b. Lorentz force   c. Oersted force 
d. Electrostatic force e. Answer not known 
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xU fhe;jg;Gyj;jpy; fhe;jg; Gyj;jpiray;yhJ NtnwhU jpirapy; efUk; 
kpd;Ndhl;lkhdJ xU tpiria czu;fpwJ. ,e;j tpiria vt;thW miof;fg;gLfpwJ? 
a. /ghuNl tpir  b. yhud;]; tpir   c. xau;];nll; tpir   

d. kpd;fhe;j tpir  e. tpil njhpatpy;iy 
 

143. Who is regarded as the father of fibre optics? 
a. Narinder Kapany b. C.V. Raman  c. S. Pancharatnam   
d. J.C. Bose   e. Answer not known 
,io xspapaypd; je;ij vd miof;fg;gLgtu; ahh;? 
a. eupe;ju; fghdp  b. CV. uhkd;   c. S. gQ;ruj;dk;   
d. J.C. Ngh];  e. tpil njhpatpy;iy 

 
144. How do substances expand due to heat? 

a. Gas < Liquid < Solids   b. Gas > Liquid > Solid 
c. Gas = Liquid = Solid   d. Cannot be determined 
e. Answer not known 
nghUis ntg;gg;gLj;Jk; NghJ vg;gb tpuptilAk;? 
a. thA < jputk; < jplg;nghUs;  b. thA > jputk; > jplg;nghUs; 
c. thA = jpuTk; = jplg;nghUs;  d. jPh;khdpf;f KbahJ 
e. tpil njhpatpy;iy 

 
145. If a person moving from pole to equator, the centrifugal force acting on him 

a. Increases      b. Decreases   c. Remains the same  
d. Increase and then decrease  e. Answer not known 
kdpjnuhUth; Gtpapd; JUtj;jpypUe;J> eLtiuf; Nfhl;Lg; gFjpia Nehf;fp tUfpwhh;.  
mthpd; kPJ nray;gLk; ikatpyf;F tpir 
a. mjpfhpf;Fk;     b. FiwAk;   c. khwhJ  
d. Kjypy; mjpfhpj;J> gpd;G FiwAk; e. tpil njhpatpy;iy 
 

146. The Technology used for stopping the brain from processing pain is 
a. Precision medicine   b. Wireless brain sensor  c. Virtual reality  
d. Radiology   e. Answer not known 
%isahdJ typiar; nrayhf;Ftij epWj;jg; gad;gLj;jg;gLk; njhopy;El;gk; 
a. Jy;ypa kUj;Jtk;  b. fk;gpapy;yh %is czh;tp c. nka;epfh; cz;ik 
d. fjphpaf;ftpay;   e.  tpil njhpatpy;iy 
 

147. LASERS used for hair transplantation is 
a. CO2 Laser   b. Nd: YAG Laser   c. Ruby Laser   
d. Diode Laser  e. Answer not known 
Nuhkq;fis khw;Wtjw;F gad;gLk; Nyrh; 
a. CO2 Nyrh;   b. Nd: YAG Nyrh;   c. &gp Nyrh;   
d. ilNahL Nyrh;  e. tpil njhpatpy;iy 
 

148. Buffer solutions are used to 
a. Decrease the pH value  b. Change the pH value c. Increase the pH value  
d. Maintain the pH value  e. Answer not known 
jhq;fy; fiury; vjw;fhf gad;gLfpwJ? 
a. pH kjpg;ig Fiwf;f  b. pH kjpg;ig khw;Wtjw;F 
c. pH kjpg;ig mjpfhpf;f  d. pH kjpg;ig khwhky; itj;jpUf;f 
e. tpil njhpatpy;iy 
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149. A man pulls a trolley weighing 50 kg with a force of 50 N on a marble floor. What is the 
acceleration of the trolly?                                 
a. 10 ms-2    b. 1 ms-2   c. 2500 ms-2   

d. 250 ms-2  e. Answer not known 
xU kdpjd; 50 kg cs;s tz;bia> 50 N tpir nfhz;L khh;gps; jiuapy; ,Of;fpwhd;. 
tz;bapd; KLf;fk; vd;d?  
a. 10 ms-2  b. 1 ms-2   c. 2500 ms-2   
d. 250 ms-2  e. tpil njhpatpy;iy 
 

150. Half-life of a radioactive substance with disintegration constant λ is 
a. 0.6931/λ   b. 0.6931 × λ   c. λ /0.6931  
d. λ 2/0.6931   e. Answer not known 
rpjwy; khwpyp nfhz;l xU fjph; tPr;R nghUspd; miu MAl;fhyk;   
a. 0.6931 / λ   b. 0.6931 × λ   c. λ /0.6931  
d. λ2 /0.6931   e. tpil njhpatpy;iy 

 
 
 

 
 
 

 


